Columns.doc: this tests columns in a document.
Section break below. 2 columns ahead. Width=2.9 space between=.2
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Now we move on to 3 columns of equal space with a horizontal line between.
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Now we move on to 4 columns. Still a line between.
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Let’s go to 5, how ‘bout?
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Now we are back to just one column. But we will move on to columns of different widths and separations. Below we will have column widths of 1.2”, 1.6”, and 2.0”. The separations will be .4” and .8”. Still a line separating them.
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Now for the grand finale we will have 6 columns and in fact restart in the middle of one. There will be .06” width between each one.
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Another column break! This jumbles the heights up. Word 2003 no longer tries to equalize them.


Column break. This text is in a column. This text is in a column. This text is in a column. 

Column break. This text is in a column. 

Column break. This text is in a column. This text is in a column.

Column break—new page in Word 2003. This text is in a column. This text is in a column. This text is in a column. This text is in a column. This text is in a column. This text is in a column. This text is in a column. Here ends the narrow columnature.

Finally we test ‘right’ columns. 3.83’ on the left 1.67 on the right .5 space between.
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Now the file has ended. But there is a twist. We applied the last formatting to ‘this point forward’ so there should still be columns.

EOF.

